05020 RIERH#H BEEERN FIKEE

7= miiEA

M
44k DD11 1.0332

g -
MHEEE
AR,
it e E,

R4 -

05200 R F

05280 R 1§

05899 J11% B8 & A T HRIER4H

© norelem www.norelem.com



05020 RIERH#H BEEERN FIKEE

R1

&
T] M
THH Ny
m N i s ]
Y )) ¥ T
- 4= 0D
% = 7 1
IAS ara o
12 L
1{Fy I3
L1 A
L4
)
o PP -
05020-05 |4,5| 16 | 35 [32]26] 5 |22|10/23| 9,5 28[10| 14 | 16 | M5x35 4,5/56,5|96 105| 2 0,8] 108° | 05200-100
05020-06 |5,5| 23 | 46 |38(32] 9 [27/13|29] 11,56 35|11| 12 | 14 | M6x50 5,5|70,5|121 13,5 3 1 | 108°| 05200-105
05020-08 | 7 | 27 | 55 |45(39] 9 [32[16|35| 14 42[14] 19 | 21 M8x50 6,5 86 |[143 16 | 3 2,3| 108°| 05200-115
05020-10 | 8 | 33 | 74 |56/43]/7,5/38/20/39| 18 48|18| 26 | 28 | M10x70 8,5| 110 |177 18 |3,5 3,5| 108° | 05200-120
05020-12 |10 | 45 | 100 |68|50] 9 [45|25|45| 22 56|21| 32 | 32 | M12x80 8,5| 140 |215 23 | 4 4 | 90° | 05200-135

© norelem www.norelem.com




